Supporting Information, Protocol S1:  R Script Used To Assess T Cell Numbers.
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# Axis Timits
yaxis < €(0, 1700

# Read in new data
D4 <- read.csv(’datacpd.csv))
CD8 <- read.csy(’datacps.csv')
# set the levels

CD4SRestim <- factor (CD4SReStim, c('NS', 'MT', 'E3’, 'WN')) # Four Restimulations
#cD4SRestim <- factor(cDasRestim, c('Ns’, "MT', "E3')) # 3 Restimulations

#Cp4Svaccine <- factor (coaSvaccine, c("NS', 'WT', E', "Ns3')) # 4 vaccines

E

cp4svaccine <- factor(cp4svaccine, c('Ns’, iNs3'3) # 3 vaccines
CD8$Restim <- Factor (CD8SRestim, c('NS', 'WT', 'E3’, 'WN')) # 4 Restimulations
#CDBSRestim <- factor(CD8SRestim, c('Ns’, "MT', "E3')) # 3 Restimulations
#CD83vaccine <- factor (CDBSvaccine, c('NS', 'MT', €', "Ns3")) # 4 vaccines
co8$vaccine <- factor(co8Svaccine, c(’Ns™, ", 'Ns3'}) # 3 Vaccines

# Remove the columns we are ngt using
keep <- c("Bird", "vaccine”, "Restim", "TR", "TNR", "Total”, "puplicate")
cb4’ < o [keep]

# Average out duplicates
weightedaverage <- function(data){
data.TR.add <- dataSTR * datasTotal
data.TNR.add <- dataSTNR * data$Total
data,avg <- datalFALSE, keep]
for (i in 1:nrow(data)){
if (datasouplicate[i] = 1){
TR.acc < datasTRLi]
TNR.acc <- data$TNRL1]
Telse{
TR.acc <- TR.acc + data.TR.add[i]
TNR.acc <~ TNR.acC + data.TNR.add[i]
print(i)
iFG 1= nrow(data) & dataspuplicate[i+1] == 1){
newrow <- data[i,]
newrowSTR <- TR.acc / dataSTotal[i]
newrowSTNR <- TAR.acc / dataSTotal[i]
data.avg <- rbind(data.avg, newrow)

¥
.
Cp4.avg <- weightedaverage(cna)
Cp8.avg <- weightedaverage(cDs)

# Fit the para
Cp4.Tme <- glmer (TR + TNR ~ Vaccine*Restim + (1+Restim|Bird), family=poisson, data = cp4)
#Cod. Tne < "glner (TR ~ Vaccine*ReStin + (L+ReStin|ird), famiy=poisson, data = cd4)
Summary (cp4. Tne)

CDB. e <- glmer (TR + TNR ~ Vaccine*Restim + (1+Restim|Bird), family=poisson, data = cD8)
#Co8. Tne <_"glner (TR ~ Vaccine*ReStin + (L+ReStin|Bird), family=poisson, data = cds)
Summary (co8. Tne)

# Plot the data
save <- TRUE

if(save)y

; JpeaCCeot. pg®)

gplot(vaccine:restim, fitted(cos.Ime), colour=sird, data=co4, ylim=yaxis)

if(save){
dev.off ();

if(save){
. Jpeg("cos8.jpg")
gplot(vaccine:restim, fitted(cos.Ime), colour=sird, data=Cos, ylim=yaxis)

if(save){
dev.off ();




